Daily Quiz

* Go to Socrative.com and complete the quiz.
* Room Name: HONG5824

* Use your full name.
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List of power series (centered at 0) that you must memorize. “I” means
Interval of Convergence.
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8.7 Taylor Series

Compute the Taylor series of f(z) =

of convergence.
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centered at 0 and find its interval
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Find the 42nd derivative of sin(z?) at z =0. &— A‘k“‘j £ £490.
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Thic meane that +he U2nd

degiee  tem of The power Sevieg
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Euler’s Formula

Find the Maclaurin series of the function e** where i = v/—1 is the imaginary
unit.
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1 1 1 1
Find the sum of the series 1.2—2‘22+3'23 _4.24+...
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1 1 1 1

Find the sum of the series 1.5 5.93 +5 55 7.27_;_...
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8.7 Taylor Series

The Taylor series of f(x) centered at a is defined as
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Dissecting the Notations
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Find the Taylor series for f(x) = x* — 322 + 1 centered at a = 0.
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Find the Taylor series for f(z) = x* — 322 + 1 centered at a = 1.
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8.7 Taylor Series a1

Represent f(x) = sinx as the sum of its Taylor series centered at 3
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Desmos Examples to Play With

Assortment of functions and their Taylor series:

https://www.desmos.com/calculator/duplOxglke

Taylor Series of sin(x) with different centers:

https://www.desmos.com/calculator/dghngmfvoi
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